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Power of a Power: (a ) =a

If raising a power o & power, muﬂﬁ*pﬂy the exponents

ﬁ%wm?{%: Simplify. Write each answer using only positive exponents:

N

(=)’ o)
Y

X |
Power of a Product: (ab)m =a"b"
find the power of eash factor in the parenthesis and multiply

e N ek ey o)

i ' - I 1Y &
4 = - 2 12
64X 3313 (7xy"2y' ‘f"?xf}/ v 6 )1(1 ’it Z
| = yf XY
T 30

i}
ay a”
Power of a Quotient: b - B

for ary numbers ‘a* and "b* whx:_re b0, i the %mﬁent of a4 ard b is raised 2 a
power, raise both, the rumerator and the denominator to the given power

5 a ] 4n
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